Inverse Trigonometric Functions

1
A f sin(sin lE +cos 'z) =1, find x

Que 1:

Ans:

Marks :(2)

1
(sin_lg 4 cos 'z) = sin” 'l = —

1

gin '= = T_ cos 'z = sin 'z
5 2

hence x = 1/5

1
Que 2: (i) If  tan (tanz) == then which of the following is the value of x.

(@) 1.6 (b) 2 (c) -1.3 (d) -1.7

Consider the figure having 4 identical squares. Marks :(4)
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(i) Evaluate tand

(iii) Find the value of the angle {J

Ans:

(i) (c) 1.3
(i) tand — %

(i)

1 1
- 1 (1Y 1 (1L
# = tan (3) tan (4)



Que 3: (i) Which of the following is true? Marks :(4)
m

(a)sin 'z + cos 'z = 3
m

(b)tan 'z — cot 'z = 3

-
(c)sec 'a + cosec ta = —

m
(i) Find x ,if 2sin 'z —cos 'z = —

Ans: (i) (a)
(if)
92sin 'z —cos 'z — 2co0s 'z + 2cos 'z =

2(sin 'z + cos 'z) — 3ecos 'z =

b S o]

m— 3cos 'z =

OR
by T
2sin 'z — (——.s:-fn ]m) = —
2 2
T 3
— 3sin 'z = ™ = sin ]m—g—?:m—i

2
Que 4: Marks :(3)

1 4
(i) Which of the following is the value of cos ! g



m

(ﬂ)g
(b)1.8
()%
(d)Does not exizts

(i)if  tan '(—z) + cos! (—%) = % , then find the value of x.

Ans:
(i) (d)
(ii)
T m
—tan!(z) + 7 — 3= 39

2
1
tan_lzr::E:>3::—
6 V3
Que 5: Marks :(6)
1—2
142z

(i cos ! (I—I") - cos ‘(l_y;) ,where zy < 1 ,thenshowthaty=

-z . . .
is inverse of itself.

(ii) Hence show that the function f(z) =
l1+2

Ans: (i)

2tan 'z + 2tan 'y =

m

2

_ r+y iy

tan ! = —
ant (£2L) -

1—=zy
T+y _1
1 —zy
+y=1—-zy= _ 1o
LTYy= Yy y_l+$
(ii)
l—=a
of(x) =
for@ = 1 (152 )

-]
_I_

|
| —

-y

I+|I

EY

e

[EY Py
+
B|R|& |t
—



Que 6: Marks :(3)

(i) Which of the following can be the domain of the function f{m} — cos o

1

m

23

(ii)If cos 1z > sin~lz ,then find the interval in which x lies.

Ans:

(i)(a) [-1,1]

(i)

cos 'z > T cos 'z
2cos 1z > z

2

1 m™
COSs T > —
4

1
==z € [-1,—)
V2
Que 7: Marks :(4)
(i) Which of the following is the value of  sin’(sin '0.7) ?

(a) 0.7 (b) - 0.7 (c) 0.49 (d)0.14

(i) Find the value of tan®(sec '2) + cot® (cosec '3)
Ans:

(i) (c) 0.49 (sin(sin 10.7))" = (0.7)? = 0.49

(ii) tan®(sec '2) + cot®(cosec ' 3)

sec’ (sec '2) — 1 + cosec” (cosec™'3) — 1
=4-149-1=11

Que 8: Marks :(6)



1 s
(sin_lg +cos lz) =sin'1 = =
1 =
P | -1 . —1
sin~ — = — —co§ T = Sin
5 2
hence x = 1/5
Ans: (i)
cos L
3
= cos (cos_l 1— i) _ V5
B 9/ 3
" -1 -1, — —
(i) €08 T +cos 'y 5
m

cos(cos 'z + cos y) = cos

cos(cos 'z)cos(cos 'y) — sin(cos 'z)sin(cos 'y) =0

wy—mﬁfl—yg =0
z'y* = (1-2")1 - y°)
x2y2=1—m2—y?+x2y2
z? + y"] =1
(iii)

144 256

2
PP =1l= — + =
yz x2 172

= 22 = 400 = z = 20

=1

Que 9: Marks :(4)
(i) Evaluate [-0.3],where [x] denotes the greastest integer function of x.

(ii) Which of the following is the domain of the function  f(z) = sin 'z ?

(a)[=1,1] (b)(=1,0) (c)[~1,0] (d)[ %3;-]

(iii) Write the domain of the function  g(z) = sin ' [z]

Ans:



(i) [-0.3] = -1
(i) (a) [-1.1]
(ili) Since the domain of ;5 '2 is [-1,1], the possible value of [x] = {-1, 0,1}
[z] =-1, -1<z<0
=0 0<z<l
=], B AR el

Therefore the domain of  g(z) = sin ' [¢| is[1.2).



